Sherlock Holmes:
The Emerald Crown

(Chapter 1: A strange man)

Read the sentences and put the story in the correct order. Number one is given.

a. The man visits Sherlock Holmes. His name is Alexander Holder. D
b. The member of the royal family needs fifty thousand pounds. D
¢. Inad cold February morning, Holmes and his friends see a very strange man in
their street.
d. When Alexander arrives home, he sees a stranger in the front garden. D
e. One night another person takes a hundred thousand pounds from another bank. D
f. The previous day, another man talks to Alexander Holder. This man is member of

the British royal family. D

g. Alexander Holder takes the Emerald Crown home with him. D

h. He works in a bank in Threadneedle street. D
i.  The man runs along the street moving his hands up and down. He looks worried. D

J. This man gives Alexander Holder the Emerald Crown. D



